i SEEEE —p—

LF 3600& 7| [Rid= &3k

SRGUESL

B

3675 3601 3681 3614 3621 3631 3600

BSPT BSPP/AAH A% BSPP/A%I  BSPT BSPP/ZA%]  Ti31-68

TiB1-67  TAS1-67  FBI-67  TARI-68  FiAB1-68  FiAB1-68

Bk zEEk RiEXIEK
3609 3629 3699 3669 3608 3603 3698 3693 3618

BSPT BSPT BSPP//%I  BSPP/4 BSPT BSPT BSPP//A%l  BSPP/2HI BSPP/% %]
F431-69  FAG1-69  FEBI-69  BABI-70 FB1-70  FEI-70  WE-70  BIAS1-71 FEB1-71

S~ e @S ) al/adiil N

B Bk TEIEL
3606 3602 3604
TURB1-72 TURB1-72 TURG1-72

/

R %
Bk Bk w
3616 3636 3639

BSPP TAB1-73

T1R51-73 T1R51-73

rée &

wREREL

3666 3667 3668 3622 3620 3626
T1R51-74 T1R51-74 TiRE1-74 T1R51-74 T1R51-74 T1851-75
P 14

0605 300070 3610

WE-75  TUB1-75  BUBI-75

7 o®

'4

Bllegris 1-65




Y EEEN —— (I T

LF 360014E= 3k

AT iR ISR , IRERATHNZIT TiIZRFIMERBRERESL, £X
U ZIIME T REB A fe it N #n HEEAR.

it

HEEHE  AEBME30 barE /1, +150°CAITREE
RIFFRIHNA 1 BE
B v o AN mh B IR < B AR 41
AT RASHAFER EiLEERNFHNERIFGRERIEE
ERE, EREN

RIS | MEFSZEASNBNERERE
BEREMAATERSRE (R MPHKE
thF e EAE A
B AR

32504 7= 2D
—sEKTERTEMEM: B
F R ERIRE)
IR 2 PN o s
BiE. EW. FEAKRIEZ#RT Tram g
EXigsd
T BEEEHETRERERSS ETRE |
o PR 100955 L sy |2
RIER R AT E ) R I IE N

BARSH

=

k-
EMRES. AR, R, K BB HE# R

ORVE: FARAL(FKM)
H= %30 bar
(20 bar: 3699, 3609)

KN (R

B s
20'CE+150°C
B2
M5 ' M6 | M8 M0~y e G1/a Ga/s G1/2 h
x0.8| x1 | x1 | x1 j BE. EER
5 . wiE
016 018 0.6 08 08 12 3 35 s mue

ORIE: FEAL(FKM)

FIFERIEREIR TR RO RIR KR . PR A BOBRIEA AN L Y& F o

ATLL#E755 mm Hg (99%HE =) HE=E T EH. EMRYAESE

e
Tk B
ISO 14743: SEFikfEsh, #¥E RG: 21CFR (FDA)
HERRIERNIEL RG: 1935/2004/EC
D: 97/23/EC (PED) (BARRE0.02H//\6)
DI: 2002/95/EC (RoHS), USDA NSF H1: g
2011/65/EC ASTM B733-04: H#hfElk (i)
RG: 1907/2006 (REACH) IRBRE

DI: 94/9/EC (ATEX)
UL94 V-0: 1H&E\FHAN

1-66 Bllegris

| o |




LSS

3675 B, BSPTHMELL

el K
b
i
L
®

FOAMLSERE. HRE @D C & FI F2 H kg
4 R1/8 36750410 10 3 15 0.009
R1/4 36750413 14 3 15 0.017
R1/8 36750610 13 4 17 0.011
6 R1/4 36750613 14 4 17 0.018
R1/8 36750810 15 5 19 0.015
8 Ri1/4 367508 13 16 6 18 0.019
R3/8 367508 17 17 6 185 0.027
R1/4 36751013 18 7 23 0.026
10 R3/8 36751017 18 8 225 0.031
R1/2 36751021 22 8 225 0.056
OF2 R1/4 36751213 20 7 255 0.033
12 R3/8 36751217 20 9 24 0.035
R1/2 36751221 22 10 23 0.051
14 R3/8 36751417 22 9 27 0.042
9'? R1/2 367514 21 24 11 26 0.057
3601 EiEsk, BSPPHIMEISMEL
FOAMLSARE. RURER @D C & E F1 F2 H kg
M5x0.8 36010419 35 10 25 1565 0.006
M6x1 3601 04 52 45 10 3 16 0.006
4 M8xi 3601 04 56 5 11 3 145 0.007
G1/8 36010410 55 13 3 145 0.009
G1/4 36010413 65 16 3 145 0.015
M5x0.8 360106 19 35 13 25 19 0.010
6 M10x1 3601 06 60 55 13 4 175 0.011
G1/8 360106 10 556 13 4 175 0.01
G1/4 360106 13 65 16 4 17 0.015
G1/8 360108 10 55 16 5 20 0.014
8 G1/4 360108 13 65 16 6 18 0.016
G3/8 36010817 75 20 6 19 0.028
G1/4 36011013 65 18 7 25 0.025
OF2 10 G3/8 36011017 75 20 8 225 0028
G1/2 3601 10 21 9 24 8 225 0043
G1/4 36011213 65 20 7 265 0.030
12 G3/8 36011217 75 20 9 26 0.034
G1/2 36011221 9 24 10 235 0042
14 G3/8 36011417 75 22 9 28 0.038
9'? G1/2 3601 14 21 9 24 11 265 0.045
3681 EHEREZES, AFISMEL
FDATL 4R, FIRE @D C E E F G H kg
@D 4 M5x0.8 36810419 35 25 10 16  0.005
-
IG
E C

o @,

RESERI™R:

. PUE o BAIER
- REE .« REBAE
- BZHE o FRBER
.« BEEE

Bllegris 1-67




LSS

3614 HiZk, BSPPHIAHIMIZL
FOAMLSERE. HRH @D C &) E F H kg
M5x0.8 36140419 5 10 22 0009
@D 4 GI/8 36140410 75 14 25 0016
GI/4 36140413 1117 29 002
OF o G 36140610 75 14 275 0019
— Gl/4 36140613 117 315 0028
H ! GI/8 36140810 95 15 285 0022
TIT11 IE  TGa se1a0813 135 17 325 0028
RRUIEBI| 10 G3/8 36141017 14 22 38 0052
. C | o 0308 36141217 14 22 39 0056
9"{ Gl/2 36141221 185 24 435 0,062
3621 wEREEES, BSPTIMEY
FDAML 3458 @D C &) F H H1 kg
, _RUB_ 36210410 10 21 7 0006
R1/4 36210413 4 21 7 0014
R1/8 36210610 10 235 65 0008
® R4 36210613 14 235 65 0016
g _RUB 36210810 10 24 65 0009
R1/4 36210813 14 24 65 0017
10 R1/4 36211013 14 22 6.5 0018
R3/8 36211017 17 30 75 0022
i, _R3B_ 36211217 17 31 75 0023
R1/2 362112 21 22 31 7.5 0.041
9“{ 14 R1/2 362114 21 22 33 8 0.042
3631 WEEHEL, BSPPHMASISMEL
FDAMLSRRE. MIRE @D C & E F H H1 kg
M5x0.8 36310419 35 13 215 7 0003
4 GI/8 36310410 55 13 20 7 0007
G1/4 36310413 65 8 20 75 0011
oo, o G 36310610 55 13 225 65 0.009
S o GI/4 36310613 65 16 225 65 0012
| :Tj G1/8 36310810 55 13 225 65 0010
8 Gl/4 36310813 65 16 23 65 0013
HE o CF G3/8 36310817 75 20 23 75 0018
1 Gl/4 36311013 65 16 28 65 0015
| 1 _C 10 G3/8 36311017 75 20 28 75 0022
L Gl/2 36311021 9 24 28 75 0028
, 638 36311217 75 20 29 75 0023
Gl/2 36311221 9 24 29 75 0033
?P 14 Gl/2 36311421 9 24 31 8 0033
3600 EANREEL
FOAMLSARE. FRE oD & G GI H Hl H2 N kg
4 3600 04 00 98 8 17 85 85 11 0006
6 3600 06 00 121 10 19 105 85 135 0.009
8 3600 08 00 148 13 21 125 85 16 0.012
10 360010 00 175 15 245 14 105 20  0.019
12 360012 00 20 17 25 145 105 225 0.023
14 3600 14 00 22 20 285 165 12 25  0.031

N4

EH2BPRMBREART

1-68 Bllegris




LA E-DR i
VIS — A Y *‘I‘ﬁ-‘
i
®
3609 EfiEsk, BSPTIMEL
FOAMLSERE. HRE @D C &) F G H J L kg
4 R1/8 360904 10 13 10 15 7 18 0.014
R1/4 3609 04 13 14 10 17 7 18 0.020
R1/8 360906 10 13 12 175 8 215 0018
6 R1/4 3609 06 13 14 12 19 8 215 0.025
R1/8 3609 08 10 13 15 195 10 235 0.023
8 R1/4 360908 13 14 15 21 10 235 0.029
R3/8 3609 08 17 17 15 21 10 235 0.035
10 R1/4 36091013 15 175 235 12 29 0.037
R3/8 36091017 17 175 2565 12 29 0.043
R1/4 36091213 15 195 26 15 31 0.049
12 R3/8 36091217 17 195 285 15 31 0.055
R1/2 3609 12 21 21 195 285 15 31 0.072
14 R3/8 36091417 19 21529 16 34 0.063
" R1/2 3609 14 21 22 215 30 16 34 0.072
9{ AR R U S B A6
3629 KB ERES, BSPTIMELL
FOAMLSAEE. HRH @D C & F G H J L kg
4 R1/8 36290410 10 10 245 7 18 0.025
R1/8 3629 06 10 13 12 295 8 215 0024
6 R1/4 3629 06 13 14 12 305 8 215 0.031
8 R1/8 3629 08 10 14 15 325 10 235 0.031
R1/4 3629 08 13 14 15 34 10 235 0.037
10 R1/4 36291013 18 175 39 12 29 0.054
9"{ KRR R LIRS B [
3699 KEREAEL, BSPPHIAHISMELL
FOAMLSERE. RRER @D C B E F G H J L kg
M5x0.8 3699 04 19 35 10 10 18 7 18 0.011
M6x1 3699 04 52 45 10 10 18 7 18 0.011
4 M8x1 36990456 5 11 10 18 7 18 0.013
G1/8 36990410 55 13 10 17 7 18 0.014
G1/4 36990413 65 16 10 175 7 18 0.019
M10x1 3699 06 60 55 13 12 19 8 215 0017
6 G1/8 369906 10 55 13 12 19 8 215 0018
G1/4 36990613 65 16 12 195 8 215 0.022
G1/8 369908 10 556 13 15 205 10 235 0.021
8 G1/4 369908 13 65 16 15 215 10 235 0027
G3/8 36990817 75 20 15 215 10 235 00833
10 G1/4 36991013 65 16 175 27 12 29 0.037
G3/8 36991017 75 20 175 255 12 29 0.043
G1/4 36991213 6.5 16 195 295 15 31 0.050
12 G3/8 36991217 75 20 195 285 15 31 0.057
G1/2 3699 12 21 9 24 195 285 15 31 0.065
14 G3/8 36991417 75 20 215 29 16 34 0.059
I G1/2 369914 21 9 24 215 295 16 34 0.062
9{ KRR R U S B[

Blegris 1-69




BEET e K

3669 KR E AL, BSPPHIAHISMELL

FOARLSAEE. TR oD C (& E F GH J L kg
4 M5x0.8 3669 0419 35 10 10 275 7 18 0.014
G1/8 36690410 55 13 10 255 7 18 0.017
6 G1/8 366906 10 55 13 12 31 8 215 0.024
G1/4 3669 06 13 65 16 12 305 8 215 0.028
8 G1/8 366908 10 55 14 15 335 10 235 0.031
G1/4 366908 13 55 16 15 34 10 235 0.035
10 G1/4 36691013 65 18 175 42 12 29 0.052
G3/8 36691017 75 20 175 41 12 29 0.056
12 G1/4 36691213 65 20 195 47 15 31 0.070
G3/8 36691217 75 20 195 46 15 31 0.072
" 14 G1/2 3669 14 21 9 24 215 49 16 34 0.094
SEH AIRF R AR & BT 6
3608 IETEESL, BSPTHMELL
FOAMLSRES. HRH @D C &) F G H J L2 kg
4 R1/8 36080410 10 10 245 7 18 0.020
6 R1/8 3608 06 10 13 12 295 8 215 0.031
R1/4 3608 0613 14 12 305 8 215 0.038
8 R1/8 3608 08 10 14 15 325 10 235 0.040
R1/4 3608 08 13 14 15 34 10 235 0.047
10 R1/4 36081013 18 175 39 1229 0.067
R3/8 36081017 18 175 41 12 29 0.070
12 R3/8 36081217 20 195 465 15 31 0.094
14 R1/2 3608 14 21 22 215 505 16 34 0.125
Il
52{ AR hEsE AR & BB A E
3603 BETEESL, BSPT/MELL
FDARLSAEE. TR oD C (& F G HHI J L kg
4 R1/8 36030410 10 10 195 18 7 23 0.018
6 R1/8 3603 06 10 13 12 235 215 8 28 0.031
R1/4 36030613 14 12 245 215 8 28 0.037
8 R1/8 360308 10 14 15 25 235 10 31 0.041
R1/4 36030813 14 15 265 235 10 31 0.044
10 R1/4 36031013 18 175 305 29 12 375 0.067
R3/8 36031017 18 176 325 29 12 375 0.069
12 R3/8 36031217 20 195 36,5 31 15 40,5 0.103
I c OF 14 R1/2 36031421 22 215 40 34 16 45 0.147
52{ IR HESE B & B 15
3698 TR, BSPPAIAHISMELL
FOALSES . TR ob ¢ & E F G H J L/2 kg
4 M5x0.8 3698 0419 35 10 10 275 7 18 0.018
G1/8 36980410 55 13 10 2565 7 18 0.021
6 G1/8 3698 06 10 55 13 12 31 8 215 0.031
G1/4 3698 06 13 65 16 12 305 8 215 0.035
8 G1/8 3698 08 10 55 14 15 335 10 235 0.041
G1/4 3698 08 13 65 16 15 34 10 235 0.045
10 G1/4 36981013 65 18 175 42 12 29 0.066
12 G3/8 36981217 75 20 195 46 15 31 0.088
14 G1/2 3698 14 21 9 24 215 49 16 34 0.111

N4

ARRA] S AR & B B 77 )

1-70 Bllegris




BRI

el K
b
i
L
®

3693 BTEESL, BSPPFIL $I5MELL

FDAMLS4RIRE. SRR oD C & E F G HHI J L kg
4 M5x0.8 36930419 35 10 10 225 18 7 23 0.019
G1/8 36930410 55 13 10 205 18 723 0.021
6 G1/8 369306 10 55 13 12 25 215 8 28 0.031
G1/4 36930613 65 16 12 245 215 8 28 0.035
8 G1/8 369308 10 55 14 15 265 235 10 31 0.041
G1/4 36930813 65 16 15 265 235 10 31 0.044
10 G1/4 36931013 65 18 175 33 29 12 375 0.066
12 G3/8 36931217 75 20 195 365 31 15 405 0.090
QIP 14 G1/2 369314 21 9 24 21538534 16 45 0.112
A UR SBR[
3618 BEHERIESL, BSPPRI ISR
FDAML SR, SURER oD C & F HHI J L1 L2 kg
4 M5x0.8 36180419 8 145 65 10 6 185 0.011
G1/8 36180410 14 23 95 17 10 205 0.029
M5x0.8 36180619 8 15 7 10 6 225 0015
6 G1/8 361806 10 14 23 95 17 10 235 0.031
G1/4 36180613 17 22 9 22 13 255 0.049
8 G1/8 36180810 14 23 95 17 10 26 0.033
G1/4 36180813 17 22 9 22 13 275 0.051
" 10 G3/8 36181017 22 33 14 22 13 32 0.105
QH sm L{EEE: +80°C

BHRESSETRITHRFERK: BRBEART/), BRSHAHESHEANRE.

Blegris 1-71




BEXNEE

X
A

3606 ERENEEL

FDATLS4AEE . SUKE oD E G L kg

4 3606 04 00 0 305 0010

L 6 3606 06 00 2 365 0016

THT 8 3606 08 00 15 375 0021

ol 10 3606 10 00 175 475 0.034

L 12 360612 00 195 50 0042

9“{ 26 2D 14 3606 14 00 215 525 0.050
3602 ERENEEREL

FDALS4RER, SR oD E G L kg

L 4 3602 04 00 0 23 0000

6 3602 06 00 12 28 0016

] 8 3602 08 00 5 31 0023

I || 10 360210 00 175 375 0033

—— @D 12 36021200 105 405 0045

g¢ 14 360214 00 215 45 005

4

3604 ERENETREL

FOAMLSERE. HRE o@D & G H L2 kg

4 3604 04 00 10 23 18 0014

6 3604 06 00 12 28 215 0023

8 3604 08 00 15 31 235 0032

10 36041000 175 375 29 0048

12 36041200 195 405 31 0.063

14 36041400 215 45 34 0078

1-72 Bllegris




R

3616 HFRFMAERL

el K
b
i
L
®

FDAMLSEES. FURE oD B F1 F2 K L1 12 2T kg
L b 4 3616 04 00 13 14 14 14 20 125 0018
6 3616 06 00 16 17 175 17 22 15 0028
e ‘ 8 3616 08 00 18 19 195 185 235 17 0.035
al | H ﬂDK 10 361610 00 22 27 24 215 265 21 0063
L 12 36161200 2 24 26 23 27 23 0062
of2 || loF1 14 3616 1400 27 27 295 255 295 25 0079
9'? 6 max.
et et o .
3636 TR e, BSPPHIEY
FDAMLSEINS. SR oD C B E F1F2 HH K 2T ko
JIAR. L 4 GI/8 36360410 85 14 14 305 11 15 13 0,020
£ o 68 36360610 85 17 17 33 11 185 15 0033
| on GI/4 36360613 115 17 17 37 15 185 15 0033
== , _G8 36360810 85 19 19 34 105 21 17 0044
g ~ 1 GI/4 36360813 15 19 19 38 145 21 17 004
4R 10 G3/8 36361017 12 22 27 42516 24 21 0073
i jf g ,, 6B 36361217 12 24 24 43 16 26 23 0077
ul  oF c ® G2 36361221 16 27 24 485 215 205 23 0.133
4 K
3639 ERrFHAEREL
FDAMLEEINS. SR oD & F1F2G6 H K L ZT kg
L 4 3639 04 00 13 14 10 35 14 18 125 0023
=im 6 3630 06 00 6 17 12 405 175 215 15 0035
ﬂ\ [Tk 8 3639 08 00 18 19 15 44 195 235 17 0.046
M L ::T@ 10 363910 00 22 27 17551 24 29 21 0.080
26 12 363912 00 24 24 19555 26 31 23 0086
|| \OF2 14 36301400 27 27 21559 205 34 25 0144
. R RS B
g oT
9'? © K

Blegris 1-73




R

3666 REMESX

FOAMLSERE. HRH op1 op2 (4 G L L1 L2 kg
4 6 3666 04 06 10 35 195 18 0.008
L 8 3666 04 08 10 355 20 18 0.009
6 8 3666 06 08 1238 20 205 0012
10 3666 06 10 12 435 26 21 0.015
8 10 3666 08 10 15 44 256 215 0016
12 3666 08 12 15 44 26 205 0018
10 12 3666 10 12 175 50 26 27 0.026
QIP 12 14 3666 12 14 1956 53 28 285 0.032
3667 YNGIVES kg S0
) FOAILHREER. MRH op1 op2 4 G L L1 L2 kg
L 6 1/4 3667 06 56 125 385 195 21 0.012
10 3/8 36671060 17 495 26 27 0.026
12 1/2 36671262 20 51 26 275 0.030
2
3668 HRE R
FOAMLSERE. HRE op1 op2 4 G L L1 L2 kg
L 6 4 3668 06 04 12 36 17 21.5 0.010
2
3622 INEE RSk
FDAML 3:4H5R op1 op2 4 @D3 L L1 L2 kg
4 3.2 36220453 5 405 27 225 0003
5 36220405 7 405 27 225 0.005
6 5 362206 05 743 27 225 0.006
L 8 6.3 3622 08 56 83 42 25 225 0.008
L1 8 36220808 10 44 27 225 0010
‘ L2 10 6.3 36221056 8.3 475 255 225 0.011
@DﬂL 8 36221008 10 475 2565 225 0.011
[ 8 36221208 10 485 255 225 0.015
12 10 36221210 10 485 255 225 0.014
125 36221262 145 57 34 295 0019
14 125 36221462 16 575 33 295 0.023
QIP 14 36221414 16 595 35 295 0.023
3620 BEET
FDAfL 34848 oD & L L1 kg
L 4 3620 04 00 31 14 0.002
6 3620 06 00 36.5 17 0.005
8 3620 08 00 375 175 0.007
10 362010 00 475 225 0.01
12 362012 00 495 235 0015
14 362014 00 53 25 0.016

1-74 Bllegris




R EELM

el K
b
i
L
®

3626 ik

FDAfL SRS oD (& G L L1 L2 kg
L 4 3626 04 00 6 255 175 115 0.004
6 3626 06 00 8 305 195 135 0.009
8 3626 08 00 10 33 20 16 0.009
10 3626 10 00 12 40 25 18 0.015
12 3626 12 00 14 43 26 20 0.021
9"{ 14 3626 14 00 16 47 28 225 0.029
0605 s
HREZERT
SR & kg
06051212 0.012
A AFF-250°CE +260°CARIR ESERE
* - bEtge: ALERAEHESR. BB AT, KX A W\ FRE.
TEME. Bk, Bilig.
/ HECFR21ARAE.
< AR T RRE##L.
/ AT IB8UEE SRRt RIIAE .
REMMN: KE=12m: FE=127mm: EE=0.08 mm.

@ (& H HI L kg
3000 70 00 25 20 96  0.021
L HIRE ., RETRIERER/ ERMER, RITRIVERIZIFIIR

3610 FERBAE

MRS oD @ o kg

6 361006 00 361006 04 0.004
8 361008 00 361008 04 0.007
10 361010 00 36101004 0.011
° 12 36101200 36101204 0.013

14 36101400 36101404 0.016

REER AR MO EMEE
F RS R ANIARI B, {EEKF I AL 5E

Blegris 1-75







